Name K@% Grade 2 Cluster 6 CFA
1) Estimate the length of this line in inches. (0 WChes

Measure this line in inches. 5 inches

Explain how you found the length of the line.

T measured it with a ruer

2) Which would be best for measuring the length of the hallway, a ruler or a
yardstick? Explain your thinking.

Yard shide Docatse s \Onﬂbcr han a vuler.

3) Measure the height of your desk in inches. Then measure the height of your
desk in centimeters.

My desk is inches high.
My desk is centimeters high.

Explain how both these measurements can be used to describe the height of your

desk. D ifferent wits of mugsure
cm are smadler so 14+ Hwdus moe of Hum o

neosure Yhe samve cistahce
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4) Two boys measured the width of the door in their classroom. Jaxson said the
door was 40. Miguel said the door was 100. The teacher said they were both
correct. Why were the boys’ measurements so different?

Theg ay hawt been using dillend Uids of muasure

5) Measure these lines in inches. Then compare the measurements.

Line A 4‘ inches

Line B 2_ inches

Line C (ﬁ inches

Line B iS_i_ inches shorter than Line . 4.12=b or (p-2= 4.
Line Ais___L- _inches longer than LineB. 2.+.& = 4 ov &-1= L

A= 2
Line C is longer than line A by [ T 4#}_,'—3(0 or (0~ 4
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6) Lane jumped 22 inches. Zoey jumped 31 inches. How much farther did Zoey
jump than Lane? Write an equation and then solve the problem.

27_+i=3|

7) Betsy used 13 inches of string to make a bracelet for herself. She used 25
inches of string to make a bracelet for her friend. How many inches of string
did Betsy use to make bracelets? Write an equation and solve the problem.

13425=_39.

Rl H’O_
- lg ’Lg 39
13 1\
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8) Kevin had some fabric to make a quilt. He bought 12 more yards of fabric.

Now he has 31 yards of fabric. How much fabric did Kevin have to begin with?
Write an equation and solve the problem.

19 +12= 3l 31-12= 19
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9) Sam went to the arcade. He earned 9 tickets playing one game and 7 tickets
playing another game. He spent 10 tickets on some candy. How many tickets
does he have now? Write an equation with a symbol to represent the
unknown number, and solve the problem.

G41= 1o, 0™ Lo
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U

10)  Gary got some baseball cards for his birthday. He got 5 baseball cards from
his parents and 3 from his friend. Then he got some more from his aunt. Now
Gary has 12 baseball cards. How many baseball cards did he get from his
aunt? Write an equation with a symbol to represent the unknown number,

and solve the problem.
_ Y r5+3=12 n-5-3=_49

D <—
— -4 =5

gt sl dd HH MO s,
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11)  Max took brownies to share with his baseball team. 34 of the brownies
were eaten. Now there are are 16 brownies left. How many brownies did Max
have to start? Write an equation with a symbol to represent the unknown

mRnumﬂand solve the problem. U-H
24 +16 =(50)

i gl w0 AF
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